o(d @) (rad)
a(d cot(d))

R i
ST T

9+ EO} +

2 3 -3 -2 -1 0 1 2 3
TP n (PCA to beamline) TP n (PCA to beamline)

18-

p3_TT default-re

—— D tepsS_11. =

—— D steaE‘TT‘tTé?a It

— D steang‘ck P%J eIL?fss
BOMSIER-TT-dcr 1I-r
DQMstep3_TT_defaultNEWTOLDSAMPLE-relf

H : : 13 b
-1 i
N 4
£

SICEWATL

o ——
oloa,) (cm)

107 L E T8
- 107 ==z R R R

°
: T
& il :{

23 %3 23
TP n (PCA to beamline) TP n (PCA to beamline)

0P /P,

,_.
<
L

107 [

Ratio

I

-3 -2 -1 0 1 2 3
TP n (PCA to beamline)




	Contents
	Page 1


